30.10.2020
Ход урока
1. Выполнить тестовое задание.
2. Сдать на проверку 30.10.2020 до 15:00.
Варианты
	1 вариант

	1. 
	Бревникова София Валерьевна

	2. 
	Буренина Ирина Владимировна

	3. 
	Верхотурова Алена Викторовна

	4. 
	Волкова Алина Юрьевна

	5. 
	Гречишкина Яна Алексеевна

	2 вариант

	1. 
	Доценко Ирина Сергеевна

	2. 
	Канашов Матвей Дмитриевич

	3. 
	Кодлова Алена Витальевна

	4. 
	Комиссарова Ксения Андреевна

	5. 
	Комогорцева Анастасия Сергеевна

	3 вариант

	1. 
	Куделя Анастасия Сергеевна

	2. 
	Науменко Екатерина Ивановна

	3. 
	Никонова Яна Алексеевна

	4. 
	Носырева Евгения Валерьевна

	5. 
	Ольшанская Алена Сергеевна

	4 вариант

	1. 
	Попова Александра Владимировна

	2. 
	Ратенкова Дарья Ивановна

	3. 
	Рябченко Дарья Алексеевна

	4. 
	Сечкина Ксения Максимовна

	5. 
	Слабченко Анна Ивановна

	5 вариант

	1. 
	Телешова Ульяна Владимировна

	2. 
	Толстолуцкая Василина Васильевна

	3. 
	Филина Екатерина Денисовна

	4. 
	Шульгина Екатерина Сергеевна


Вариант 1.


1. Вычислите: .              
а) 35;          б) 25;          в) 23;          г) 32.

2. Вычислите: .        
а) 3;          б) 6;          в) 2;          г) 1.

3. Упростите выражение: .      




а) 2;      б) 2;      в) 2;      г) .


4. Вычислите: .   
а) 10;          б) 19;          в) 9;          г) 29.
Вариант 2.


1. Вычислите: .             

а) 14;          б) 106;          в) 8;          г) .


2. Вычислите: .             
а) 2,5;          б) 1,2;          в) 0,4;          г) 1.

3. Упростите выражение: .   




 а) 9;          б) 3;          в) 9;          г) .


4. Вычислите: ..   
а) 3;          б) 91;          в) 4;          г) 27.
Вариант 3.


1. Вычислите: .          

а) 1;          б) 7;          в)  -1;          г) .

2. Вычислите: .            

 а) 3;          б) 7;          в) 1;          г) .

3. Упростите выражение: .     




а) ;     б) ;     в) ;     г) .


4. Вычислите:     
а) 3;          б) 6;          в) 2;          г) 5.

Вариант 4.


1. Вычислите: .        
а) 1;          б) 0;          в) 11;          г) 10.

2. Вычислите:.         

а) 3;          б) 9;          в) 5;          г).

3. Упростите выражение:.    




а) ;          б) ;          в) ;          г) 


4. Вычислите: 	   
[bookmark: _GoBack]а) 3;          б) 7;          в) 2;          г) 5.
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